BEu-p F1 A (2]

® 2"‘*(%')'* o :c=f»;z(“§*)*=9<fe,;5-;i
4-2x =3 34 29 (Llega S~ 1)

29 L 2 hy,s )

b —

Ii

Ml

I
o

3
)

? . — (%Y
R T L Sl i
A w 9

1603 <25 2" b3MT —527——-2&},_5"-:0

¥ G§>0

Lr't;‘lf);-'ﬁ b—a <0 .2, faapm s lbEyKzi,

() 2%=3% £  x= ,&g,ls*—vz&?la

c—Q=3%— 2L =3% —22&;13

:—_z(s—z-,@?ls)
3= ,&?,_a 1%13—% 9, ¥<9 T HBIAY 3—2%,_3«9

= =Z=£>9
LT Cc—a<Q F.T, faaBH e cFJRIU,

N s
c— ,6'*3%*—9:@—-331,&3 ~~—“§~

= 4 S, =2
_ﬁat(g, 2 2

s

3
hysz = hya(3) . $=4ys S
T A R

6 £ 3
< (2) whras 3% < (£)
Lbd"s T 3,&?3§ - —5 >0 Fre 4>0

Rt c—b>0 TIHHs LH<C

e, W, ) RY Epcve <



